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1 % EHEREEERBER
B oA B FR2947A218 (£)  |BIALESRS 9:30
M AL 15 FR =FHETR5 03 =
xEtEE (F) FE M (FE) B 1K il BR{# 4% (F3)
3,350,000 3,350,000 i
E3 & % A HoB|@m f# x
1 |ZEHAERHERSE KIE 3,340,000
2 |RBXREHERIASHE BERXE 3,250,000
3 |FHEMFEHRRSH BEXE 3,300,000
4 ([7TOTHAKASH BEXE 3,300,000
5 [HAE/ SR SWV=EXE 3,090,000 [%#L
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KEHEILHERIKE
1 % EPEMERR 105 RBEREIATS
M 4 B FR29FTA21H (%) 10:11
M AL 15 FR =FHET{R5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{f 4% (F3)
5,045,000 4,429,296
E3 & % A % (M) f# x
1 | EHERI &A= KIE 4,750,000 |%#L
2 |[BRRXEHAFTA KIE 4,890,000
3 [ARS#H/MELEIR XIE 4,900,000
4 |BABHXEIHE KIE 4,830,000
5 | ARHFRERTIE =FEXRM 4,858,000
6 |[BRXEHXMEE X 4,800,000
7 |BRAEHEENLKR KIE 4,790,000
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1 % B8 LE1145RBEXEATIE(1IRE)
M A B FR29ETA21A (&) |BIALESR 10:30
M AL 15 FR =FHETR5 03 =
xEtEE (F) FEMHE(FE) B 1K il BR{# 4% (K1)
8,410,000 8,410,000 7,377,415
E3 & % A o8| @m f# x
1 | EHERTIEAASE KIE 8,220,000
2 V4R kAR AIE 8,200,000
3 [ARS#/MELEIR XIE 7,890,000 (& #L
4 [BRHEEHFARE KE 8,380,000
5 |1BRASHRXETIHE FKIE 8,350,000
6 |[BRXEHXMEE X 8,190,000
7 |ARSHAMER X5 8,410,000
8
9
10
11
12
13
14
15
&




AfBHRR

KEHEILHERIKE
1 % EIE LE1145RBEXEATE(2IRK)
Bl 4 B FR29%7A218 (£) 10:51
M AL 15 FR =FHET{R5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{# 4% (F3)
8,140,000 7,148,937
E3 & % A % (M) f# x
1 BT FT7A KE 7,965,000
2 | KiEERs#Xatt BEEXM 7,890,000 |3
3 [ARSHTILTHRELE KIE 8,030,000
4 |ARSHIEVYIIE =ZFEEM 7,980,000
5 | ARSHASTHKEIRM FE 8,050,000
6 |FREMFHRERTR =FEXM 8,010,000
7 |BRAEHEENLKR KIE 7,950,000
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XEHEILHERIRE

% % HYEREI7SEMRBIE
M 4 B FR29FTA21H (%) 11:30
B AL 15 FR =FHETR5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{# 4% (F3)
1,850,000 1,633,558
E 3 & % A % (M) & %
1 |BRXRUHTFT7A KE 1,838,000
2 (ARSHTILTHRELE KIE 1,823,000
3 [ARS#EHERE KIE 1,848,000
4 (EREHEBKEIRA FIE 1,830,000
5 (ARS#MAERE KE 1,798,000 |3
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KEFE T HERIRE
1 % —BRTAKELFHBEREXBEERT
B # B TR29E7A218 (&)  [FAALESRT 11:50
B AL 15 FR =FHETR5 03 =
xEtEE (M) FEMAE(FE) B 1K il BR{# 4% (F3)
34,300,000 34,300,000 i
E3 & % A HoB|@m i x
1 [EHRESRHEXEE KE 34,300,000
2 [RXSHBEDPR KIE 34,300,000
3 ;E;;%*iiﬁ%ﬁ?r%ﬁﬁﬁ SLHHH 34,300,000
4 |F—h1T7voket ELTREEM TR
5 |HEmmERitHRXat ELTRERM 34,300,000
6 |MXBHINI-TAIXD— KE 34,300,000
7 (%X BAKIY BEEHH 30,900,000 (%4l
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1 % BSR4 SRERBHIE
Bl B FR20ETA21A (%) 13:30
M AL 15 FR =FHET{R5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{f 4% (F3)
5,920,000 5,187,031
E3 & % A % (M) f# x
1 | EHERI &A= KIE 5,750,000
2 V4R kAR AIE 5,800,000
3 [ARS#H/MELEIR XIE 5,850,000
4 | KEBBRHKASH BEEEMR 5,780,000
5 |ARSHIEYIIE =ZFEERM 5,230,000 |3
6 |FREMFHRERTR =FEXM 5,800,000
7 |ARSHAIMER X5 5,520,000
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1 % ETE S iRe SRERBH IS
M oA B FR20ETA2IA (&) |BIALESR 1351
M AL 15 FR =FHETR5 03 =
xEtEE (M) FEMHE(FE) B 1K il BR{# 4% (K1)
5,550,000 5,550,000 4,869,129
E3 & % A o8| @m f# x
1 BT FT7A4 KE 5,520,000
2 V4R kAR A 5,450,000
3 | KiEERs#Xatt BEEXM 5,480,000
4 BABHXEIHE KIE 5,500,000
5 |ARSHIEVYIIE =ZFEERM 5,450,000
6 |[BRXEHXMEE X 5,470,000
7 |BRAEHEENLKR KIE 5,400,000 |%#L
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B oA B ER29ETH2IE (£)  |BAALEERS 14:30
M AL 15 FR =FHETR5 03 =
sxEtEE (F) FEMHE(FE) B {E il BR{# 4% (F3)
1,330,000 1,330,000 i
E3 & % A HoB|@m f# x
1 |FMARFDEREEHT KIE 1,130,000
2 |MMBFRBERERR AIE 1,130,000 & 4L (BEF<L)
3 |ARSHRIBABEREEHT KIE 1,197,000
4 |REFDEREEHHT KIE 1,130,000
5 |RASHFBRABDERTER XI5 1,130,000
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1 % =HAY—MNCHEBHEREEHER
B 4 B FER20FE7H218 (£)  |BAALEERS 14:50
M AL 15 FR =FHET{R5 03 =
xEtEE (M) FEAMAE(FE) B 1K il BR{# 4% (F3)
2,800,000 2,800,000 2,233,237
E3 & % A o8| @m f# %
1 |ZEHAERHERSE FIE 2,700,000
2 |7O7HAKAEH BEXE 2,800,000
3 |BRARHERK SWV-FEHAHR 2,800,000
4 ggg%g}?lya»:ywwyv 2 650,000 |4,
5 ;;Elili:‘/ﬂ')b’;‘ww&kit%*i BEX 2 800,000
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